BID SUMMARY May 21, 2012

1. No. CC052112-02.1 – 32nd Street Bridge Repairs Project No. 12-2023 / CIP No. 50752 (Opened on May 15, 2012)

ADVERTISING AUTHORITY \$85,000.00 ENGINEER'S ESTIMATE \$80,548.25

Base Bid
1. J V Bailey Co.**
2. Heavy Constructors, Inc.**

\$92,138.00
\$125,000.00

2. No. CC052112-02.2 – Street Rehabilitation Project - E. Centennial St and Redwood St Project No. 12-1987 / CIP No. 50844 (Opened on May 15, 2012)

ADVERTISING AUTHORITY \$190,000.00 ENGINEER'S ESTIMATE \$167,000.00

Base Bid
1. J & J Asphalt Company**
2. Simon Contractors of SD, Inc.**
3. Hills Materials Company**

\$165,056.10
\$169,796.50
\$194,448.00

3. No. CC052112-02.3 – Star of the West Parking Lot Repairs Project No. 12-2030 / CIP No. 50909 (Opened on May 15, 2012)

ADVERTISING AUTHORITY \$150,000.00 ENGINEER'S ESTIMATE \$109,000.00

	Base Bid
1. J & J Asphalt Company**	\$137,928.00
2. Sacrison Paving, Inc.**	\$131,731.00
3. Simon Contractors of SD, Inc.**	\$119,083.00
4. Hills Materials Company**	\$159,686.50

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: May 15, 2012

PROJECT: Street Rehabilitation Project - E Centennial St and Redwood St

Project No. 12-1987 / CIP No. 50844

RECOMMENDATION: Award Total Bid in the amount of \$165,056.10 to J& J Asphalt Company at the May 21, 2012 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS

TOTAL BID

J&J Asphalt Company	\$165,056.10
Simon Contractors of SD, Inc.	\$169,796.50
Hills Material Company	\$194,448.00

City staff recommends awarding this project to J & J Asphalt Company for a total bid amount of \$165,056.10 based on unit pricing with the following appropriation:

FUNDING SOURCE ADVERTISING AUTHORITY	TOTAL	Streets		
ADVERTISING AUTHORITY	\$190,000.00	\$190,000.00		
ENGINEED'S ESTIMATE	\$167,000,00	Committee of American Committee of the Art And Committee of American Committee of C		

APPROPRIATION DATA:

511151116 6611565	7074	044
FUNDING SOURCE	TOTAL	Street
COST CENTER		8910
LINE ITEM	-	4370
FUNDING CENTER		0505
BID AMOUNT	\$165,056.10	\$165,056.10

PROJECT MANAGER: 7 John DATE: 5/16/12

Todd Peckosh, PE

PROJECT NAME: PAVEMENT REHABILITATION PROJECT - E. CENTENNIEL ST AND REDWOOD ST

PROJECT NUMBER: PROJECT NO. 12-1987 / CIP NO. 50844

LET DATE: May 15, 2012

LOW BID AMOUNT: \$165,056.10

				ENGINEER'S ESTIMATE		J & J ASPHALT COMPANY		SIMON CONTRACTORS OF SD, INC.		HILLS MATERIALS COMPANY	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	MOBILIZATION	LS	: 1.00	\$5,568.75	\$5,568.75	\$1,500.00	\$1,500.00	\$3,700.00	\$3,700.00	\$2,350.00	\$2,350.00
2	UNCLASSIFIED EXCAVATION	CY	810.00	\$18.00	\$14,580.00	\$16.00	\$12,960.00	\$17.90	\$14,499.00	\$37.00	\$29,970.00
3	REMOVE CURB & GUTTER	ĿF	40.00	\$7.00	\$280.00	\$8.00	\$320.00	\$12.00	\$480.00	\$11.55	\$462.00
4	REMOVE ASPHALT PAVEMENT	SYD	3,235.00	\$2.00	\$6,470.00	\$2.50	\$8,087.50	\$2.90	\$9,381.50	\$2.70	\$8,734.50
5	REMOVE SIDEWALK	SF	110.00	\$2.00	\$220.00	\$3.00	\$330.00	\$4.00	\$44 0.00	\$2.20	\$242.00
6	DETECTIBLE WARNING PANEL	SF	24.00	\$35.00	\$840.00	\$31.00	\$744.00	\$23.00	\$ 552.00	\$47.80	\$1,147.20
7	DETECTIBLE WARNING PANEL - RETROFIT	SF	8.00	\$32.00	\$256.00	\$31.00	\$248.00	\$32.00	\$256.00	\$47.80	\$382.40
8	PCC SIDEWALK	SF	174.00	\$6.00	\$1,044.00	\$4.65	\$809.10	\$5.00	\$870.00	\$8.10	\$1,409.40
9	ASPHALT	TON	760.00	\$83.00	\$63,080.00	\$81.00	\$61,560.00	\$70.00	\$53,200.00	\$85.00	\$64,600.00
10	3/4" BASE COURSE	TON	1,560.00	\$22.00	\$34,320.00	\$25.00	\$39,000.00	\$21.60	\$33,696.00	\$25.00	\$39,000.00
11	CURB & GUTTER	LF	40.00	\$30.00	\$1,200.00	\$21.00	\$840.00	\$26.90	\$1,076.00	\$32.80	\$1,312.00
12	ADJUST MANHOLE	EΑ	1.00	\$400.00	\$400.00	\$265.00	\$265.00	\$460.00	\$460.00	\$685.00	\$685.00
13	AASHTO T-180	EA	2.00	\$165.00	\$330.00	\$150.00	\$300.00	\$137.50	\$275.00	\$180.00	\$360.00
14	UNDERDRAIN	LF	1,865.00	\$7.50	\$13,987.50	\$7.00	\$13,055.00	\$12.50	\$23,312.50	\$11.00	\$20,515.00
15	GEOTEXTILE FABRIC	SYD	3,235.00	\$2.75	\$8,896.25	\$2.70	\$8,734.50	\$2.70	\$8,734.50	\$2.70	\$8,734.50

16	DIGOUTS WITH TYPE 3 FOUNDATION	CY	100.00	\$80.00	\$8,000.00	\$70.00	\$7,000.00	\$76.50	\$7,650.00	\$63.00	\$6,300.00
17	TRAFFIC CONTROL	LS	1.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$4,350.00	\$4,350.00	\$4,000.00	\$4,000.00
18	INLET PROTECTION	EA	6.00	\$150.00	\$900.00	\$100.00	\$600.00	\$260.00	\$1,560.00	\$100.00	\$ 600.00
19	ROCK BAG	EA_	8.00	\$25.00	\$200.00	\$20.00	\$160.00	\$174.00	\$1,392.00	\$35.00	\$280.00
20	12" COMPOST SOCK	LF	52.00	\$5.00	\$260.00	\$2.75	\$143.00	\$6.00	\$312.00	\$7.00	\$364.00
21	EROSION CONTROL - MISC	LS	1.00	\$1,000.00	\$1,000.00	\$400.00	\$400.00	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00
22	INCIDENTAL	LS	1.00	\$2,667.50	\$2,667.50		\$4,000.00	\$2,600.00	\$2,600.00	\$1,300.00	\$1,300.00
	TOTAL	·····			\$167,000:00		\$165,056.10		\$169,796.50		\$194,448.00

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Todd Peckosh, PE

Date

Project Manager